
pool slides

INDEPENDENTLY TESTED & VERIFIED

© Copyr ight  2013 S .R .  Smith
,  L L

C .

SW IMM ING  POO L  S L ID E  COMPL IANCE  DOCU MENTS  AVA I LABLE  UPON  REQUEST

All S.R.Smith, LLC swimming pool slides fully comply with Consumer Products Safety 
Commission (CPSC) mandatory safety Standard for Swimming Pool Slides (16 CFR 
1207) and are certified by independent third party testing labs. The installer or end-
user is responsible for complying with local building codes for the location, installation, 
construction or assembly of these slides. S.R.Smith, LLC makes no representations that 
the location, installation, construction or assembly of its slides meet local building codes.

BigRide™

With its long, extra deep runway and cascades of rushing water, 
the BigRide is a perfect landscape slide.

• 5’6” in height

• Available with a right or left curved flume

• Accommodates sliders up to 250 lbs/113kg

• 30 gpm max. water delivery system can be plumbed through the pool’s 
return line 

• Heavy-duty fiberglass gelcoat construction for maximum durability

• Designed for quick, easy assembly with a 3-piece flume for easy 
assembly and shipping

• Intended for in-ground residential swimming pools only

6'-25/16"

9'-8 11/16"

10'-11"

6'
-1

"
30

"

10
'-

61
/4

"

Due to printing technology, actual color may differ.

Adult supervision required at all times when 
children are using this slide.

TAUPE

PEWTER GRAY

Slide Color

Flume Details

14.4’

23”

water
�ow

25gpm max.

Turbo

9’10”

22”

water
�ow

20gpm max.

Typhoon

12’8”

22”

water
�ow

20gpm max.

heliX

9’3”

22”

water
�ow

30gpm max.

Rogue2

19’

32”

water
�ow

30gpm max.

Vortex

17’

30”

water
�ow

30gpm max.

BigRide

6’10”

17.5”

Cyclone

                    Shipping 
Model No. Description Weight Length Width Height

BR-2R-TP Taupe, Right Curve

BR-2L-TP Taupe, Left Curve 300 lbs 52" 76" 37"
BR-2R-PG Pewter Gray, Right Curve 137kg 132cm 193cm 94cm

BR-2L-PG Pewter Gray, Left Curve



www.srsmith.com / 800.824.4387
Copyright © 2016, S.R.Smith, LLC. All rights reserved.

For the latest version of this document, see srsmith.com

Key Part No. Description Kit 
    A

 Kit A 69-209-163 BigRide Hardware Kit (included)

 1  3/8" Flat Washer •

 2  3/8" x 13/4" Hex Head Cap Screw •

 3  3/8" Hex Nut •

 4  3/8" Lock Washer, Split •

   5/16" x 1" Hex Washer Head Screw •

  09-707 Sikaflex 291 (10oz.) Gasket Caulk

Requires 11/2" PVC pipe for water delivery – not included

1
2

3

4


